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Consider two pairs of arcs along constant-R 
and -X circles on the Smith chart, as shown in 
Figure 1. Comparing them in terms of Poin-

caré length, choose the correct set of statements from 
the following:

(a)  and2 3 41K K K K= =     (b)  and1 2 3 4!K K K K=

(c)  and1 2 3 4!K K K K=     (d)  and1 2 3 4! !K K K K

Note that R R0 1 21 1  and .X X0 3 41 1
This problem can be solved without using com-

plicated calculus. Instead, we can utilize the findings from previous puzzles by projecting the four arcs onto 
a simpler plane. The curve holds its Poincaré length 
invariant, even when we change the plane or the 
coordinates for mapping. The correct answer will be 
revealed next month.
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Figure 1. Two pairs of arcs along constant-R and -X circles 
on the upper half of the Smith chart.
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